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Please check that this question paper contains 11 printed pages and 2 pages
of maps.

Code number given on the right hand side of the question paper should be
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Please check that this question paper contains 26 questions.
Please write down the Serial Number of the question before
attempting it.

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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Tl @ HoT TG 26 E |
gt yo7 sifvard & |
Y% ¥99 & GiET 399 HE 07 F 1

¥v7 G 1 @ 10 7% 37 7g-3R a1 J97 & 3K 4% J99 F 1 37%F 2 |
§T9 § FA% §99 F IW 20 V™ @ SYF F T8 @ AT |

¥v7 G& 11 § 20 7F TY-37 a1 J99 & 3K JAF J9T & 3 3% & 1§
T ¥d% Jv9 1 3w 80 Vil G 3 F1 7@t &1 TRy |

Y97 GE 21 § 25 7% @9-39K a1 599 & IR T9F T & 5 3% & 1 397
T ¥9% J97 # I 150 T G 3714 I T8 g1 =T |

¥¥9 G&FT 26 HARE W QT 1T Giicid Gl &1 Ygeraa @ [l e
3R AHIFT 7 & GargT & |

AR SR 9RA FRF T3 @A # S IW-YRaer ¥ sEvy T
FIfoTT |

- 794 & fod @tat a7 @fgen & 9T F egEla & S 8

General Instructions :
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(i)
(ii)
(i11)
(iv)

(v)

(vi)

There are 26 questions in all.
All questions are compulsory.
Marks of each question are indicated against it.

Questions number 1 to 10 are very short answer questions
carrying 1 mark each. Answer to each of these questions should
not exceed 20 words.

Questions number 11 to 20 are short answer questions carrying
3 marks each. Answer to each of these questions should not exceed
80 words. '

Questions number 21 to 25 are long answer questions carrying

5 marks each. Answer to each of these questions should not exceed
150 words.



(vii) Question number 26 is related to identification or locating and
labelling of geographical features on maps.

(viit) Outline maps of the World and India provided to you must be
attached within your answer-book.

(ix) Use of templates or stencils for drawing outline maps is
allowed.

1. ‘Sden gfg’ vss & git ST | 1
Define the term ‘Population growth’.

2. HER ¥ o fys formm su At W B AW SaEy | 1

Name the country having the highest sex ratio in the world.

3. ‘T W= @ uRum S | 1

Define the term ‘Tourism’.

4. wqd freemdl & FE @ SeRwW AT | Ll
Give any two examples of quarternary activities.

5. 2001 F FTFOMN & FIUR YR ¥ TGS F TS w1 € 2 1
What is the density of population of India according to 2001 census ?

6. YA & fow Usg § W W@ F A9 SEen & yfavid 9e9d &9 8 2 1

Which state of India has the lowest percentage of population below
poverty line ? .

7. Y WY F FE QA WEARE TR F A Fa=T |

Name any two metropolitan cities of Andhra Pradesh.

t\:u‘l_h-..
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8. vd-ufyew 7feR & qdf afw TR FH-mr @ 2 7

Which is the eastern terminal city of East-West Corridor ?

9. WNE ¥ g 3N FALs & AR F H9 AT TC M & 9H J9=T | 1

Name the railway line that was constructed between Roha in
Maharashtra and Mangalore in Karnataka.

10. 919 S & FROT I QS & A sy | L

Name any two diseases that are caused by air pollution.

11. 99a e & o ST | Y g Yo SEEE % YN & W A R
faffa ifqs TeHfd & o & I IR G | 149=3

Define ‘Human Geography’. Give four examples of elements of
material culture created by humans, using the resources provided by

nature.

12. 99 foE® & Feamr UM & fFl dF faumdsi @ Wy Fifew | 3x1=3
Explain any three features of ‘Welfare approach’ to ‘Human
Development’.

13. fidas frad wofas damet § o voR gfg &t € 2 9 Soewn |fed ww
FHIfST | 1+2=3

How do secondary activities add to natural resources ? Explain with
three examples.

14. & Y9 F WA § ? 9RG H T F IR ERST & Seom dieg | 1+2=3
Why do people migrate ? State the four streams of migration in
India.
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15. 99 U U 9Rd & HEET & T HINT AR IHF A9 fGU 1T gwE & TW
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‘Study the map of India given below and answer the questions that
follow :
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(15.1) How many metropolitan cities are there in Maharashtra ?
(15.2) Which one of them is the largest metropolitan city ?

(15.3) Name the easternmost metropolitan city of India as shown in
the map.
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Je : Frfeiaa o7 a7 giEgiT whemsa & o J97 e 15 & @& W 8 -

Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 15 :
T § TR % faem @ A dm fage § =men iR | 3x1=3

Explain the evolution of towns in India in any three points.

16. “Y-UOeEl & Hew 39 @t & fau sfuw B, e otsifas $fy w fnlk @ 17
FE T STIH T o 39 BT & I HINT | Ix1=3

“Land resource is more crucial to the livelihood of the people depending
on agriculture.” Support this statement with any three suitable
arguments.

17. 9RG & TEE 5 A, 2002 F FE 9 977 GRmaei &1 g SN | 3xI1=3
Describe any three key features of India’s ‘National Water Policy’, 2002.

18. IR @l o fowga @ ufgdi &1 auiq S | 3x1=3

Describe three broad belts of minerals in India.

19. 77 RT MU 9°d & & V@ W@ 997 @ Rl f@m a9 smw w1 et
FIT R 35& 9 g T yw4 F s AT 3x1=3

(19.1) 39 3@ §IF I YgAT 3R IGH 99 fof@y |
(19.2) I G347 9Rd & f5g U9 & Rag € ?
(19.3) 39 ©97 & foU <iig 3@ & Eid & 919 Fd=T |
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Study the diagram showing the location of a major steel plant of
India, given below and answer the questions that follow :

et
';*’ > ﬂKorba
&L 4
Bilaspur \\‘f('/
Balaghat R"\L’*—““-‘“
pis
o

Y& Steel Plant
£:5 Dolomite
& Manganese|
Iron Ore

Dalli RaJ ahara Hills

7

Tandula & Coal
Tank <% Iron
e R ailway

(19.1) Identify and name the steel plant.
(19.2) In which state of India is this plant located ?

(19.3) Name the source of iron ore for this plant.

Az : frefefaea F97 Fac gfEgia udienfaal & fow Jv7 & 19 & ©F W 8 -
Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 19 :

qd ¥ der 3R W 99T S w%@a%mﬁf@ﬁﬁ?.mﬁﬁql Ix1=3

Explain why are the iron and steel plants located near the source of
raw materials in India.
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20.

22.

23.

24,

25.

26.
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9rg § <) 9l § WA 9 dnll & el O geeell § Wy i |

Explain any three problems faced by slum dwellers in India.

TR # ToEr WERT & R 9re Rl & e S |

Explain any five features of nomadic herding in the world.

HOR & ¥ew uRaed & O SR SN & e Hie |

Explain the merits and demerits of road transport in the world.

TOR § S=RIFT SR & fhel 9re MU’ & T Hifeq |

Explain any five bases of international trade in the world.

IxI1=3

5x1=5

bx1=5

b5x1=5

AFHA & MUR W TR H 79 afcdl & a af § Figd S | F&® a1 &

foregl a-a ferdivarstl & =re ST |

1+2+42=5

Classify the human settlements of the world into two types, by their

_shape. Explain any two features of each type.

‘IR MR 9y iREed TE mewyl fte fer @ 17 3§ %R W g

FHIfT |

“Air transport plays an important role in the international trade.”

Support the statement.

fe@m T § -

A U9 foeM gEe®, 2003 ¥ a9 qou gEeis arer oI
B. frled Smew &1 U &

C. UR-HEafed &M & Sf<H ©I[

D. ffefam & & Y@ 994 WA

(26.1) ¥R 3 feu MU oAt WAt (I8 13 W) § fefafed arR aeo

15
4 X§—2

T TR S UgEE HIGT R YA FUT & G WiE T8 TG W IYH e

a1 fafgw |

P7:0.



qe :

(26.2) WA & fe@ U UsHifas @-aHEs (B 15 W) ¥ fefafea i fafa
Sugw fagl BN feenRy iR 39s A fafay

(1)

g Afus eFwd g TS

(i)  sfEon ¥ fiag 9a M SREE
(iii) A & TH TFRT TR (2001)

3Ix1=3

(26.1) In the given political outline map of the World (on page 13), the
following four features are shown :

A

B.

C.

D.

The country having the lowest rank in
Development Index in 2003

An area of subsistence gathering.
Terminal station of Trans-Siberian Railway

A major sea-port of Australia

Human

Identify these features and write their correct names on the lines
marked near each feature.

(26.2) In the given political outline map of India (on page 15), locate

- and label the following with appropriate symbols :

Note :

64/1

(26.1)
(26.2)
(26.3)

()

The state having the largest area

(ii) The oil refinery located in Haryana

(iii) A metropolitan city of Kerala (2001)

et F97 d9c gEdiT ahiandar & foT 397 967 26 & ©@H W & :

The following questions are for the Blind Candidates only, in lieu
of Q. No. 26 :

ua foeM gEsis, 2003 ¥ <A0H 970 IS A o¥ & AW ARy |

IR-TEARET Imrt &1 3ot sifem Ry $H-91 7 2
I & G99 S 9% 9 TF F 9 9q=30 |
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(26.4)
(26.5)

(26.1)

(26.2)

(26.3)
(26.4)
(26.5)

TN & 3W WE & AW TR @ dd I FREE od ? |

2001 H FHH & IER A H TEFRT T H-90 8 2 5x1=5

Name the country having the lowest rank in Human
Development Index in 2003.

Which is the eastern terminal station of Trans-Siberian
Railway ?

Name the state of India having the largest area.
Name the place where an oil refinery is located in Haryana.

Which is the metropolitan city of Kerala (2001) ?
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For question no. 26.2 T €. 26.2 F fau

Outline Map of India (Political)
A &1 T@T- AT (TSTHiTaeR)




